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1.

2.

3.

(2) Universal

Assertion (A) : For a meaningfy]
exercise of the authority of the
state, the laws and orders of
the state must be based on the
moral beliefs and value system
of the people.

Reason (R) : For this, the state

must ensure the compliance of

the laws by its citizens.

Both (A) and ®R) are

individually true but (R) is not

the correct explanation of (A).

(A) is true but (R) 1s false.

(A) is false but (R) is true.

Both (A) and (R) are individually

true and (R) is the correct

explanation of (A).

(1)

(2)
3
(4)

The statement “All  human
beings are born free and equal in
dignity and rights.”, is given in :
(1) SAARC declaration
Declaration
Human Rights
(8) Social Contract by Rousseau
(4) Leviathan by Hobbes

of

Which thinker can be considered
as the messenger of the advent of
the modern state and envisioned
the role of the League of Nations ?

(1) John of Paris

(2) Marsilius of Padua
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XS] 1 AT B HT AT @R ?
(1) $® FARHR S TRl B Do
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Who presented the first ‘Gende,
Budget’ 1n Rajasthan ?

(1) Ashok Gehlot

(2) Pradhyuman Singh

(3) Bhairon Singh Shekhawat

(4) Vasundhara Raje

“The fundamental rights of Article
90 and Article 21 cannot be
suspended in emergency.” Which of
the following is true with respect to
the above provision ?
(1) This provision was inserted by
24th constitutional amendment.
(2) This provision was inserted by
42nd constitutional amendment,
(3) This provision was inserted by
44th constitutional amendment,
(4) This provision is there from
the very beginning of the
Constitution.

Which statement explains the
Directive Principles of State Policy
mentioned in the  Indian
Constitution ?

(1) Certain rights that -citizens

should enjoy apart from the
Fundamental Rights.

(2) Those objectives that we
should necessarily adopt as
individuals,

(3) Mandatory policies for the
government,

(4) Those goals that we as
individuals should adopt.
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14.

15.

16.

ok
=

. ided s0ciology in socig
Whocsd;‘:lld social dynamics ? 1

stati (2) Bottomore
son

%; ﬁ:&ver (B Commns

What do We call ‘the web of socig)

L arin
re]_ﬂtl’ona R
(1) Institution

(3) Association

(2) Society
(4) Community

following statementg

Read the

f[:are'il.‘ﬁiy (:3-20 Leaders’ Summit ig

uled to be held on 9 and

i%hegeptember, 2023 in New
Delhi.
India  will assume  the
Presidency of the G-20 from 1
December, 2022. :
(3-20 comprises 19 countries
and the European Union (EU).
G-20 accounts for 85% of
global GDP, 75% of
international trade and two-
thirds of the world population.
Which of the following option is
correct ?
(1) Statements I, II, III and IV are

true.
(2) Statements I and III are true.
(3) Statements II and IV are true.

(4) Statements I, II and III are
true.

IL.

I1I.

Brettonwoods Conference — 1944

led to.thc_e establishment of which
financial institutions ?

(1) International Bank for
Reconstruction : and
Development and  Asian
Development Bank.

(2) Internqtional Monetary Fund
.. and Asian Development Bank.

(3) International und
ey e Monetary F

(4) International  Bank  for
construction and
evelopment and
International Monetary Fund.
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(3) &7arg
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(1) =g, e+
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(1) FRaEmE.

(2)

(4) fearg .
1) f.aEfe Q) T SR
(3 AumEw  (4) AW AW
ToRITR gl AAANThE AN %
miimﬁaﬁsﬁ%ﬁa&zm%?
(1) g& @ ¥
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18.

19.

<ISTRITA 1RT&Tch HdT el

F 22,

20.

21.

23.

24.

Who used the concept of primary
group in his  book “Social
Organization” ?

(1) W. Ogburn

(2) Sumner

(3) Giddings

(4) Charles Cooley

“A social role is a pattern of
behaviour  expected of an
individual in a certain group or
situation.” This definition is given
by —

(1) Ralph Linton

(2) Kimball Young

(3) G.A. Lundberg

(4) Elliott and Merrill

“A  group defined by a sex
relationship sufficiently precise
and enduring to provide for the
procreation and upbringing of
children” is called —

(1) Community (2) Family

(3) Institution (4) Association

In which form of Hindu marriage
neither consent of parents 1is
necessary nor are the rites ?

(1) Prajapataya Marriage

(2) Gandharva Marriage

(3) Dev Marriage

(4) Brahma Marriage

Which one of the following is not
the challenge for the national
integration ? '
(1) Urbanism

(2) Communalism
(3) Regionalism
(4) Casteism
‘What is Sociology’ book is written
by —

(1) P.Sorokin (2) Alex Inkles
(3) T.Parsons (4) Max Weber

Who mentioned the Gemeinschaft
and Gesselschaft are two types of
society ?
(1) Durkheim (2) Weber
(3) Karl Marx (4) Tonnies
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25. wfr o srig weraw friww foaw

HE G A4 2 ?

(1) IAF9
(3) fegmt 9

(2) qg=T 9

(4) famr 9

26. =afts 1 98 9g oy =afw fopeft wmg

27.

28.

29.

30.

|
|
|
|
|
s fom, oy, wRaw, of, sgeemw, |
foare w6 Svefeml anfe % woraww |
STH T 2, FHEATT 8 — |
(1) sfeufa (2) @I sqaET i
(3) T (4) ‘I\&Fﬂ j
“qey gfeafar 6 sraemon & # - |
() JIH. 7T (2) 1. faer |
(3) &. urEH 4) %. 3w {
Tt it e 3 $feam e foredi & —
(1) uE.ft. et
(2) Shew. gd . |
(8) WRMR
(4) & ot

“Faravel 89 % 9 gaE Hr gy
(gt gEyt) o gfEds @ | =
HTRoe qiEda Ed & |7 HUT 2 -

(1) Ted des

(2) AP TE O

(3) ffer = firfem

(4) S

= 1 @ =i o v s afed

!
fagwardi g ? |
(1) Tt gftEds g 2 | {

|

2) smifys aftads w@rofas i
FAIT B |
(3) W T s fedr A |
el T -gHE ET R | I
(4) T el e A w R |
8

. When

. Position

;

is the International Ant;.

Corruption day observed every

ar ?
j(ff)d October 9 (2) Novembey g

(3) December 9 (4) Septembey g

which the individyg)
occupies-in the group by virtue of
age, family, clagg

his ~ seX: ;
; marriage ang

occupation, -
achievement 18 called — |
(1) Status (2) Social system

(3) Society (4) Role

The concept of “Key Status” ig

iven by
(gllieR,IéMerton (2) ET Hilller
3) T. F’aﬁ-sons (4) K. Davis
“History-of Caste in India” book is
written-by —
(1) S.V. Kelkar
(2) G.S. Ghurye
(3) Bottomore
(4) Herbert Risley

“Our direct concern as sociologists
is with social relationship. It is the
change ;in these which alone we
shall regard as social change.” As
quoted by —

(1) Robert Bierstedt

(2) Maclver and Page

(3) Gillin & Gillin

(4) Jones

Which one of the following is not the

charactezmtic of social change ?

(1) Soc§ change is universal.

(2) Social change is natural and
inevitable,

(3) Speed of social change is not
the same in every society.

(4) Social change is related with
Individual.
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TSI & STogaTsit 3R o G g e I
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(1) &0 e
(2) F=U o
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et & forg <t Tt ot 2
(1) faarg
(2) WEER
(3) e
(4)
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(1) s ¥
(2) THEH §Hed
(3) i firga
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33.
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31.

32.

L.
2.

3.

l 33.

34.

Which one of the following is not
the element of Purushartha ?

(1) Sanskar (2) Arth

(3) Moksha (4) Dharma

Match the following correctly —

Name of Book Author

Hindu Social a. Irawati
Organisation Karve
Marriage and b. Westermark
Family in India
History of c. KM.
Human Kapadia
Marriage
Kinship d. P.H. Prabhu
Organisation
in India

(1) 1-c, 2-b, 3-a, 4-d

(2) 1-b, 2-d, 3-c, 4-a

(3) 1-a, 2-c, 3-d, 4-b

(4)1-d, 2-¢c, 3-b, 4-a

‘The field of administration is a

field of business and it is removed

from the hurry and strife of
politics.” Who made this statement ?

(1) Henry Fayol :

(2) Woodrow Wilson

(3) L.D. White

(4) Frank Goodnow

Santhanam Committee  was
appointed for prevention of which
problem ?

(1) Casteism

(2) Corruption

(3) Poverty

(4) Communalism

Who gave the concept of ‘Culture
of Poverty’ ?

(1) Ivan Illich

(2) Alex Inkles

(3) Morris Ginsberg

(4) Oscar Lewis



Which one of the scholars rejecteq

86, Frerfiria et & 3 i uw 3 M | %% the principles of administration 5
¥ fgrdl =1 “foys’ a1 ‘FHEmEar & €9 | ‘myths’ or ‘proverbs’ ?
d sreeftepm fapgr an 7 I (1) Woodrow Wilson
(1) g foeem (2) Herbert A. Simon
(2) 72 U |TZAHA ‘ 3) Marshall E. Dimock
(3) mmste €. feute - (4) Chester [. Barnard
(4) = ITE, TS

. : ‘A human prob]
‘ :g7. Who stated that em
37. 48 #yd fpms B, wmdm wwenm & |3 to be brought to & human solution

i/ At i A R 5 ! requires human data and humap
Hiﬁmm/ 4, b tools’ ?
e (1) L.D. White
(1) U2l =13e M= &5
o () PH Appleby
(2 o=, TreE f}‘g 13
(3) &0 FAA (3) Henr;’l . byr 2
(4) TufeaR <t (4) Roethlisberge!

38. fr=fefiga & =1 @1 & =9 ¥ FW ‘38 Which one of the following is the

# Fr Ao € EvEEa seaNE o correct sequence of Maslow’s Need
- Hierarchy from the bottom of the

feremeermr 1 w3 2 2 o~ hierarchy upwards_ e

A. STH-HGRE SEAFA A. Self-Actualization Needs

B. Sifersh /el srmewahard B. Biological/Physiological Needs
C. TG q91 95 h! HTEG¥FH1 C. Love and Belongingness Needs
D. HTcH-THE %1 SATIvIhdrd D. Self-Esteem Needs

E. §& AEvFHhan E. Safety Needs

(1) A-D-C-E-B  (2) B-E-C-D-A < () AD-CE-B (2) B.E-CD-A
(3) B-E-D-C-A  (4) A-B-C-D-E ~° (3 B-E-D-C-A (4) A-B-CD-E

£89. Who among the following is NOT a
39. P & & =4 @ s F G g 00 e of POSDCORB view of

g foram 1 el T8 2 7 |~ Public Administration ?
(1) RIS (1) Luther Gulick
2) T, 3w [ O reia | 8
(3) wfym afaw l (3) Lewis Meriam
(4) % | ¢ 49 Henry Faydli =
40. ‘@ 9Eg 3% ufers wehfaem ot | ?f Who wrote ‘The Science of Public
T’ fpas fored oft 7 | a3 Administration : Three Problems ’
(1) gErdzawsr | <5 (1) Dwight Waldo
(2) T ATFH | © (2) Herbert Simon
(3) Th.Z&Y, TR | ™ (3 F.W.Taylor S8

(4) tﬁé%’l’é\ﬁ ; (4) Robe i Dahl i

Ly e
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43.

44,

45,

46.

47.

» Which of the followings is the most

centralised type of formal
communication network ?
(1) Chain (2) Circle

(3) Grapevine (4) Star

. Who propounded the expectancy

theory of motivation ?
(1) Douglas Mcgregor
(2) Rensis Likert

(3) Maslow

(4) Victor Vroom

When did the Sarkaria
Commission submit its report ?

(1) 1984 (2) 1987

(3) 1988 (4) 1983

What is the title of 12th report of

the Second Administrative

Reforms Commission ?

(1) Crisis Management

(2) Citizen-Centric
Administration

(3) Ethics in Governance

(4) Right to Information

How many reports were presented
by the First Administrative
Reforms Commission ?

(1) Fifteen (2) Seventeen
(3) Twenty (4) Twelve

Which of the following
management systems is considered
to be the best by Rensis Likert ?

(1) Participative group

(2) Consultative

(3) Benevolent

(4) Exploitative Autocratic

Who among the following is not a
‘boss’ in the functional
foremanship technique ?

(1) Disciplinarian

(2) Controller

(3) Instruction Card Clerk

(4) Inspector
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27
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51.

|
(3) F& & I ht Ieufyy, Ifer 3R
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(4) s THEE |

53. TSEIH # debige e § | few wE

&t e & F FHAT 2 ?

(1) 9% %1 geIan
(2) SrHw
(3) FITEATCHS FHTIaTE!
(4) ¥BEHR
54. TSRYH 9 FIAT 9Ied Ha W R
T 7
1) 2018 (2) 2020
(3) 2021 (4) 2018

+

50.

51.

52.

The [nstitution . of On:,lbudsman
was first created In 180? e
(1) Sweden (2) Finland

(3) Netherlands (4) Norway

was the Lokpal Bill fiyg
g?ri%uced in the Parliament ?
(1) 1966 (2) 1968
(3) 1971 (4) 1964

which Section of the Right t,
%Eformation Act, 2095, exemption
from disclosure of information ig

ribed ? :
f’ffsgection 7(2) (2) Section 8(1)

(3) Section 8(2) (4) Section 7(1)

What is meant by Prasthanatrayi ?
(1) Upanishads, Gita, Brahmanag
(2) Upanishads, Gita, Brahmasutrg
(3) Vedas, Upanishads, Brahmasutra
(4) Vedas, Upanishads, Gita

According to the Upanishads, the

word ‘Tajjalan’ has been used for

‘Brahman’. Which means —

(1) Brahman is real, omnipresent,
pure consciousness and infinite.

(2) Sun, Moon etc., are

_ illuminated by Brahman only.

(3) Brahman is the cause of the
Creation, Existence and
Destruction of the world.

(4) Brahman is the supreme being.

- Which of the following cannot be

investigated by the Lokayukta in
Rajasthan ?

(1) Misuse of post

(2) Inaction

(3) Disciplinary action

(4) Corruption

When was the Rajasthan dJan
Soochna Portal started ?
(1) 2019 (2) 2020
(3) 2021 (4) 2018




55. “HER U gaw ) snqewar fifdare
59 faam & el &Y g1 aytq R 7

(1) NG gk (2) "ot a9
(3) it asfy (4) M efH
56. ﬁﬂﬁm%

(1) 3, waTad qur e
(2) WEETE, F7awE qu1 swEre

(3) =% M, wRIH 7 qun

i
(4) WS HRTefiR, oy qem e
57. ¥ H AR gy wy 2
1. 9% 3 3t ardedy # |

2. 92 % for wad srfera g a2 |

3. A HewRy 37 weh R |
4. 2w g e wE R |
Hﬁﬁ?ﬁﬁq:

(1) 1,2939@81(2) 2, 394098 |
(3) 1,3949981(4) 1,294°9% |

58. Harmd o ¥ gafRm

(1) s=ma (2) FUH
(3) I (4) gHad

59. GHUA & FFAR, IR -
(1) T (2) ity arey
(3) wmafere (4) =

60. gfomm-FreeTd fifowme v <1
(1) ded (2) aform i
(3) FH (4) g@#

61, dYg g3l & 1w Ar & IFER e A |
FH A TEfAa g ?
1. H=I%gE 2. TS GHA
3. =% b 4. T I
f% fiu U FT H TET T T ITW
gf ;
(1) 2,3a914  (2) 1,374
8) 1,293 (4) 1,27u14

01

55.

56.

517.

58.

59.

The prevalence of suffering in the
world is  undeniable. Which
philosophy supports this idea ?

(1) Buddhist Philosophy

(2) Socartic Philosophy

(3) Gandhian Philosophy

(4) Jain Philosophy

Jain ‘Triratna’ are :

(1) Anuvrat, Mahavrat and
Shikshavrat

(2) Sayadwada, Nayavada and
Anekantwada

(3) Right faith, Right knowledge
and Right conduct

(4) Bhagwan Mahaveer, Shraman
and Shravak

True statement about Vedas :

1. Vedas are Aanadi
Apaurusheya.

2. Shruti is the most popular
word for Vedas.

3. The universal
Vedas 1s music.

4. The wuniversal meaning of
Vedas is knowledge.

Select the correct answer :

(1) 1, 2 and 3 are true.

(2) 2, 3 and 4 are true.

(3) 1, 3 and 4 are true.

(4) 1, 2 and 4 are true.

‘I think therefore 1
assoclated with :
(2) Kant

(1) Bentham
(3) Descartes (4) Socrates

According to Socrates virtue is —
(1) One (2) Golden Mean
(3) Relative (4) Non-acquirable

Deontological ethics emphasises :
(1) duty (2) consequence
(3) renunciation (4) pleasure

Which of the following are related
according to the Ashtanga path of
Buddhist philosophy ?

1. Right view 2. Right resolve
3. Right speech 4. Right faith
Select the correct answer using the
code given below :
(1) 2,3 and 4

(8) 1,2and 3

and

meaning of

:

am’, is

(2) 1,3and 4
(4) 1,2and 4
+



Eye for an eye and tooth for g

62. itw & aet wita s afa % wz ofa | 62 Eye fo supported by :
w1 gudq A1 2 " : (1) Remjﬂilutw:t eory of
yfeaamrredeh (g punishme
{(21)) aa:: :—: gymredss g | (2) Refq;rl?;fg:’lf theory of
- fy—rr,:‘:[ 1
(3) QUE hI Eﬁié"iﬁ & e I (3) I;]’L:}ntheory of punishment
(4) TUE HI gﬁmmﬂﬁﬁ ﬁ??—_d ] (4) Deterrent theory of
63. @l # uIeRsh He ik R, gEAd | punishment
(1) 2 %! (2) g 63. alitative difference in pleasures
(3) e (4) S8, frer = I gl;ccepted i He(i%?legc;crates
64. Tt g % %3131111 $vat favass gatfus 83 I:B{Z?liham @ e
(1) TR AT 2 | 64. The most suitable qoncc}e;};::_lof G}c;d
(2) St Hftreagul B | according to Gandhian Philosophy
(3) W,Eﬁ L 8 Esl)_ God is neutral.
(RSt ! (2) God is personal.
65. Aaw fagra wdar & fau wda (3) God is irrelevant.
a2 (4) Truth is God. ‘
(1) Hed (2) frar 65. ghe ethi(lzcal 'princ-lpl'e?;e?lfwli)tlﬁty for
ty’s sake’ is associa
(?) w'@ Widwa g - {1 yKar.l‘l: (2) Mill
HHeq w@iam & wfEd vl § = | (1)
66. frer 2 7 (38) Socrates (4) Descartes
: 66. What are the essential conditions
1. % e I & : of freedom of will ?
2. WH AR I 1. Ability to act
3. = T AT g %ewleccilge :ggjﬁgélggse
Tt 1 3ufefy : e conduc
4' ﬁﬁmﬁ 4. Presence of alternatives
HE I : Choose the correct answer :
(1) 2,394 (2) 1,293 (1) 2,3and4 (2) 1,2and3
(3) 1,394 (4) 1,294 (3) 1,3and4 (4) 1,2and 4
67. WV T FHIRATE AU HLdT & — 67. Kant’s rigorism supports —
(1) afirpay =afrar 1 stfieran fad @ (1) Greatest good of the greatest
g@mm - number
2 i (2) Ethics of pleasure
(3) weumaTet Hifaema %1 (3) Ethics of compassion

(4) =fw & w2 e fofea @
68. YHUA HegaTd T & HIH :
(1) 3 vt g Prvara w £ |
(2) g, MY T 7 T I A R |
(3) mﬁzﬁhwmﬁ%aﬁ?
|

(4) FTHEAF I FE T AR |
69. A T § withfera 781 2 -

(4) Ought implies can
68. Socrates is not a skeptic because —
(1) He firmly believes in God.
(2) Doubt is the means to reach
the doubtless truth.
(3) The empiricist philosophy
begins with his philosophy.
(4) His philosophy ends in doubt.
69. Not included in Vedic ‘Rinatrayi is —
(1) &% 3o (2) gz (1) Lok Rina  (2) Pitra Rina
(3) =iy oy (4) 2= (3) RishiRina (4) Dev Rina

* 14 01
ST 1R1&fch HdT Tl

|
|
|
|
|
l
I
|



71.

72.

73.

74.

75.

01

(1) III fremerg

(2) XII Rremerg

(3) XIII frarerg

(4) 1I frerere

=1 3 & B o o % T
35 o o o g
(1) =&Y s ;
(2) 9™ A%

(3) FHR FATqH

(4) TESH® Saw

= 4 9 fron AR TeE
AT eft 7

(1) =ferera

(2) fommEea

(3) Mg
(4) HH<H

1 9 @ fopm o9 8 oy wndt g =1
S S P HIRIGR ?

(1) "ErTy

(2) SR

(3) TSI

(4) TSI

= o @ Fag % ey Hed # “TH T3
forar wgun sy nfi @
Jooi@ frearg 7 -
(1) et Heet

(2) 3m3af Hewd

(3) Tai Hee

(4) YUYW WSA

............

70.

72,

| 73.

|

I

|

|
|

|

|
l
!
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- Which of the following Major Rock

{Vachoguti,

74.

75

What was the term used for the
entry into the Buddhist Sangha ?
(1) Upasampada (2) Pravrajya
(3) Uposatha (4) Patimokkha

Edict of Ashoka emphasised on
. Bahushruta and
Samvaya which is a manifestation
-of his religious tolerance policy ?
(1) IIT Rock Edict

(2) XII Rock Edict

(3) XIII Rock Edict

(4) II Rock Edict

‘Which of the following Jataka is
*not engraved on the gateways and
‘pillar of Sanchi Stupa ?

‘(1) Mahakapi Jatak

A(2) Sam Jatak

(3) Vessantar Jatak

(4) Mahajanak Jatak

Who among the following composed
the play ‘Devichandraguptam’ ?

(1) Kalidas

(2) Vishakhadatta

%) Shudraka

«(4) Kamandaka

O
“In which of the following states the
Andus Valley Civilization site “Juni
Kuran” is located ?
(1) Maharashtra
(2) Uttar Pradesh
(3) Punjab
(4) Gujarat

. g which of the following Mandalas
“of Rigveda “Ekam 'Sad Vipra
‘Bahudha Vadanti Agnim Yamam
_L'i;” is mentioned ?

% Third mandala

(2) Eighth mandala
(3) Ninth mandala
(4) First mandala



6. fym i@ Rrarh 3 fra R @ agm | 76, Which of the following fort was
| renamed by Shivaji as “Singhgarh” ?

e ?

?:; W@m' @) e l (1) Jawali (2) Shivner
y (3) Kondana (4) Toran

(3) HISHT (4) T

77. fe d @ fee T s T ge 77. Who among the following wrote
] the book “Young India” ?

foret oft ?
(1) STt Sredd T (1) Lala Lajpat Rai
(2) guTNeg 9 (2) Subhash Chandra Bose

(3) AT AEE (3) Jawaharlal Nehru
(4) sre1 e foeTen (4) Bal Gangadhar Tilak

78. 109 el gfufy 3 = 9 9 e 78. At which of the following place the -
Congress Working Committee

Sen.'-r‘tﬂ' : T FAH H _ approved the resolution related to-
g g g fomam 2 withdrawal of the Non-Cooperation
(1) TREYR (2) =P M)O"Ement? 3

(1) Gorakhpur (2) amparan
() g (4) ameht (3) Nagpur (4) Bardoli

79. fegmm Hviore fofers wefiReE 79. When was the Hindustan Socialist
S T e H TS o ? Republican Association established ?

1) 1928 (2) 1932 (1) 1928 (2) 1932
(3) 1936 (4) 1926 (3) 1936 (4) 1926
80. gWME= W I 21 R, 1943 H | 80. Where did Subhash Chandra Bose
ITATE WHE & YR THR &1 T8 establish the Provisional
=al ez vt ¢ %overnment of free India on 21
. : ctober, 1943 ?
EB) aﬁ:ﬁ“ﬁ'q' (2) famge (1) Malaya (2) Singapore
) | (4) <9 (3) Germany (4) Japan
81. ﬁmﬁﬁq@m?ﬁqa‘gmﬁtﬁmﬁﬁm I 81. Who among the following was the
off 7 | Guru of Padmavati and Surseer ?
P | (1) Kabir
(@) Feerrard | (2) Vallabhacharya
@) I (3 Ramanand
: (4) Dadu
4
@ @ |
82. | ‘ ‘
E:ﬁ-{ﬁ 4 | gre wEe 3 rerawm } 82. Which of the following Mughal
! 3Ty fopar o1 7 emperor started the Altamgha
(1) i @) e | Jagir?
(3) Ie=e (4) FHE | (1) Jahangir  (2) Shahjahan
(3) Aurangzeb (4) Akbar

+
16 0



83. Arrange the following events of

|
FTAFAHLAR R EF | French Revolution in chronological
A, TR IR F v wwow | aufior ¢
" M | A. The opening of the Estates-
pe éﬁ_\qllﬁ?lil General Session
., 1 Y yuy | B. Fall of Bastille
D. wqs w§ At % s & | C. Tennis Court Oath
Hryon ¢ | D. Declaration of the rights of
s | Man and of the Citizen
. Codes :
() A B, C.B- 29 B C ATD (). AD,C/B .- (2).B.C.AD
3) A,B,C,D @) A CBD (3) A, B,C,D (4; A,C,B.D
84. W1 =t g=-11 & gifera FRA aen
¥ fow Mo 2w T B aE I 84, Match List-I with List-II and
i select the correct answer using the
GRE - code given below :
&:"-i o  gh-n | List-I List-II
HIug ‘?ﬂlhaalﬂ ) Lt ' (Session of Congress)  (President)
A. Eﬁﬁﬁﬁlﬁm i e A. Calcutta Session i. P.Anand
(1890). - o 1], (1890) Charlu
B. IR afravE il sseg B. Nagpur Session ii. W.C.
(1891) CEE] , (1891) Bannerjee
C. IoEETE AREYT iii,  <re™Ts C. Allahabad iii. Dadabhai
(1892) - S Session (1892) Naoroji
v, feieETE D. Lahore Session iv.Pherozeshah
et (1893) Mehta
Codes :
ﬁ T i o RSN LA
s Chy it S tiv g

(71 /S R e
LS T o e e €|
(ddie Betiv e i 41
85. Arrange the following in
chronological order :
| A. Battle of Brandywine
REERG Jqo7B. Battle of Bunker Hill
l C. Battle of Yorktown
] D. Battle of Saratoga

|
|
swiokt
|
|

Codes :

(1) D,C,A,B (2 B,AD,C

3) B,D,ALC (4 ACB,D
+
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92. aﬁmmmimmm%‘

(1) g ) 92. Manchester of South India is :
@) ¥ b i () Madurai  (2) Coimbatore
3 ‘ (4) ﬁﬂg‘@ (3) Chennai (4) Bengaluru
1) Qﬁ‘ﬁ@aﬁ Eniaﬁﬁét—'ﬁg 93. i\gaxim}lm weather phenomena
: . : Curs in —
(2) Wﬂg‘aﬁ (1) Troposhere
(3) WegTEe i (2) Stratosphere
(4) AT & (3) Mesosphere
(4) Ionosphere
94. RAO®Y iy ues
' T TRt el 94. ‘Sirocco’ local winds are found in
(3) FREfR 3 (1) Italy (2) Japan
ot (4) AreT (3) California  (4) Canada
st o & &hi‘ra@ 3R H9y gsg] &) [ 95. The cold and dark spots in the
photosphere zone are called
(1) wreE=g (2) = (1) Photons (2) Corona
i (3) WX weim T (3) Sunspots (4) Faculae
96. ﬁ%ﬁﬁﬁﬁqmmmg ’ 96. Which tof 'th?e following is an
3 incorrect pair ?
(D ‘ﬁ?’l’ﬁﬁﬁm f=eft qudd o (1) Mohorovicic — Transition
3Tgadar S8 A & Discontinuity zone between
TeT T 8 lovséer crust
2 ffEd - - dvew T s - ?I?antle e
3 e o (2) ]%?slg:riltin i - Transitgon
SHAAT I uity zone between
(3) gz:mrf - m;mmﬁm mantle  and
A e SoFe:
ﬁ.ﬁg . | (3) Gutenberg  — Transition
SELN | Discontinuity zone between
(4) HE - fore qun famn , outer and
; : Inner core.
SHHAAT  HE T (4) Conard — Transition
: Discontinuity zone between
97. it e T % T S A Sial and Sima.
: Bt e R 97. Who propounded the contraction
gpad theory related to origin of
(1) h E:o)ntgzents and oceans ?
1) Daly
(2) Sieft 2) Jolly
(3) % (3) Jaﬂ‘rf.'y
(4) s (4) . Lothian Green
01 19 +*
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98. What does the term ‘Syzygy’ refer

98. .gﬁ,_ﬁgfa'wra?-ﬁﬁwﬁﬁﬁiﬂ Al
wdt @ 7 (1) Linear position of Earth and
(D‘!ﬁwmﬂwm Moon
e (2) Perpendicular position of Sun,
(2} @. ‘Iad:' YT A5 HT ﬁ H’ﬂﬁ"ﬁ'ﬂ Earth and Moon
feufa (3) Linear position of Sun, Earth
(3) gd, gealt quT SHT ®1 W Wy and Moon
e (4) Linear position of Sun and
(4) T T T O W Moon
99. wia ¥ famferfd qasii # & }9 A | 99, Which of the following soils cover :
Taiie &9 ° g8 A R 7 maximum area in India ? '
(1) eRuse (1) Laterite
(2) o= i (2) Red
(3) v i deliist (3) Alluvial
(4) I 9 TR (4) Arid and desert
100. F=fafgd & & ®9 f gty await | 100. Which  of  the foucawglg ocea?l
t rt
1 T I | gfeor ) 3R sefRa R 2 ::,“;f,‘if;}f?“_e Rl i R
(1) FTER — FY — STt — Hlabetvg 1) %a}aﬁ'fdog — Canary — Brazil -
a an
(2) HAH — AT — Bl — AR (2) Eakr:arg — Brazil — Falkland —
; - apraaor Nl
(3) SITSAIeT — HieheIUg — ANTER — I (3) Brazil — Falkland — Labrador —
(4) TIHAUES — FTATA — HTE — AFTER ' Canary
(4) Falkland - Brazil — Canary —
101. Yaret et % fawm % gy § #9 @ Labrador
TR ? | 101. Which of the following statement
18 correct with respect to the
(1) 7% 3t aeme # 3"“““_" &l | development of Coral Polyps ?
21 . (1) They require more of
(2) 2 T ford @ o # gE T sediments.
§ | (2) They flourish in non-saline
N fresh water.
@) SRR Fﬂ;ﬂ A (3) They prefer more sea
TGE F E | I disturbances.
(4) A20°—30°d A i R | | (4) They flourish in 20° — 30° C
temperatures.
20

01



102. WA Y ¢
umﬁaﬁm 2011 %
CTe '

(a) Tafesg

(b) FUTEW woyy

(¢) AnTtvg

ST aflg |

l

|

|

|

) farsiry ;
|

|

|

I

Y 1 srafrg

(1) (d) (b) (a) (c) (2) (

‘ ) (d) (b

(3 (b) (d) (a) () (4) (E) ia)) ((c; Egz
103. & 1992 #

i3

§dU : =
(2) ST Tt 3391 71— sy gy |

(b) e =1 fimfoy 757 T
IO T | % e

© % + Fem qur ady
e G

|

(d) ST sftfa oufy

D) MA@ (2 (a)a (o)

(3) (d) (4) (a) T (b)
104. wRa 1 f=fefea Tfedi #t 35% sgm

el § gafera $If o g2 % mem 3

HEl I 1 994 HIfSa

get-11

-1
Ffeat ITH A
(a) "<l ggE

102. According to Census of India 2011
arrange the states density-wise in
ascending order :

(a)
(b)
(c)
(d)
(1)
(3)

Sikkim

Arunachal Pradesh

Nagaland

Mizoram

(d) (b) (a) (c) (2) (c) (d) (b) (a)
(b) (d) (a) (c) (4) (b) (a) (c) (d)

() SqeEr

(ii) TR (b) 3HHUEH
(iii) FEAR/RETEAR () WO
(iv) HH (d) =FHTE

%<

(1)
2

(i) (i) (1v)

(d) (a) (b)

@ @ O
@ @ @ O (© P
4 ) (@ @ © 1 -

105. Yig § &9 @ ad § g (TE)
srfrfem oy BT 7

(1) 1972
(3) 1973

i
©
(c)

(2) 2004
(4) 1976

01
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103. The aim of ‘Aravalli Afforestation
- Project’ initiated by O.E.C.F.
(Overseas Economic Cooperation
. Fund) Japan in the year 1992 was :
(a) Restoration of forests in
Aravallis.
(b)

Water resource conservation

(c) Control land erosion and
illegal mining.

(1) (b)and (c) (2) (a)and (c)

(3 (@ (4) (a) and (b)

with their place of origin and

select the correct answer using the

by constructing anicuts.
(d) All points mentioned above.
104. Match the given rivers of India
~ code given below :

List-1 List-II
_ Rivers Place of Origin
(1) Betwa (a) Nandidurg hills

~ (11) Godavari (b) Amarkantak

- (ui) Pennar/  (c) Bhopal
~ Pinakini
(iv) Son (d) Trayambak
village
- Codes : T
(1) (i) (i) @Gv)
(1) (© (@ (@ o)
(2) (© (@ @ ®)
3 @ @ ® (©
4 ® @ @ (©
105. In which year the Wildlife
(Protection) Act in India came into
force ?
. (1) 1972 (2) 2004
“(8)" 1973 (4) 1976



106. ayq @rd W fave w¥E 3@
(u.ua.q). ) & 398 i ST AT @

(1) g 3
(2) HHS TFH I
(3) fasft 3y
(4) =aftprd 3
107. 39w &) Har= yaft sweR g 2
(1) B 30T / Hef A (C/Y)
(2) 3T A qREd / S F iy
AC
&%
(3) 39w F qfEd / wea § whady
AC
&
(4) P A / Fe Y| (S/C)
108. 3fe ©fm # I A9 1 ¥ afus g
YATeA 2 T 98 % &
(1) o forenfam s
(2) THEA g
(3) firfea g
(4) T ATEvIHAHS T
109. 3 914 fRR & §¢ v w5 ) Fiwq
fiRet % uftoms =t =res fopa siman &
(1) = o et
(2) =Tt 18 ara & foreaw
(3) wit T wra | et
(4) =M 3fg
110. §9T8 U9 U5WEd @9 87 6% fou
g § :

(1) eamge (2) TRYE
(3) A7wmge (4) TS
111. Fefafga # @ # @ wda <1 398
FEEA e & TR TE & 7
(1) Rymam (2) ANTETS
3) femreft (4) ¥

|
|
|
l
I
l
I

|
|
|
|
|
|
|
I
I
|
|
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106. The Net National Product (NNP)

107.

108.

109.

1

1

10.
11.

at factor cost is also known as :
(1) National Income

(2) Gross National Product
(3) Private Income

(4) Personal Income

The Marginal Propensity

Consume is equal to : :
(1) Total consumption / Total income

(¥/A%)
(2) Change

to

in consumption /

M) (ﬁ_CJ
Change in income AY

(3) Change in consumption /

AC
Change in saving [E)

Total saving / Total consumption
(S/C)

If the income elasticity of demand
is greater than 1 and positive, then
commodity is —

(1) aluxury good

(2) an inferior good

(3) a Giffen good

(4) a necessity good

(4)

A fall in the price of a commodity,

holding everything else constant,

results in and is referred to as :

(1) a decrease in demand.

(2) an extension in the quantity
demanded.

(3) a decrease
demanded.

(4) an increase in demand.

Sarwar and Rajmahal mining

in the quantity

- areas are famous for :

(1) Calcite
(3) Magnesite

(2) Garnet
(4) Emerald

Which of the following mountain
peak is not related to Northern

‘Aravalli region ?

(1) Sirawas
(3) Bilali

(2) Nagpahar
(4) Bairath

01



llz-gg?aﬁmﬁmmwmm

(1) W}@T%mﬂm
(2) 2 @ & e §

(3) Wi@?%mammma

(4) T2 & e % qa
113.%&%%3:{@@%%
(1) "o
(2) HH=R Oy
UM
26,6 8%&* 2.42.9

1) 7 v 2 4

| 115. 7= & & form w1en § = o) w57 v
I BT R 7

FHATR |
@W@M_W‘ﬁ“ﬂém%?
(3) TR AT
S .;

(3) 6 4) 2
(1) TR A1

(3) B WA,
(4) | -
116, fr=r # & #.8 F0 F off 75 =
et = g &7
(1) qfd 1 7 =g H Fma
(2) T HMH
(3) dHAH ‘
(4) @Ted 61 hiE -
117. 3fg T 95 *Eg'“" i aftad
2t egat (x 8 y) i @ T A
agdt 2 a1 TedlR o ¥ A g &
ez win $ E

(1) gAT=® 2) T
(3) T i

01

(2) FgaH ST 1R18Teh T I

112, At

114,

115.

116.

. From which

equilibrium, the

indifference curve is —

1) greater than the
budget line.

(2) smaller than the
budget line.

(3)

(4)

slope of

slope of

slope of

may be larger or smaller than
the slope of budget line.

equal to the slope of budget
line.

of the following
average, the sum of deviations of
individual observations is zero ?
(1) Median

(2) Arithmetic mean

(3) Geometric mean

(4) Mode

Find the median from the given set
of numbers: 2,6,6,8,4,2,7,9

1 7 (2) 4
(3) 6 4) 2
In which of the following average,

the effect of extreme value is the
least ?

(1) Geometric mean

(2) Mode

(3) Harmonic mean

(4) Arithmetic mean

Which of the following does not
cause a shift of supply curve of a
good ? i

(1) Price of the good supplied

(2) Goods and Service Tax

(3) Technology

(4) Price of input

. If the amount of both commodities

(x and y) increase or decrease
when the price of one changes, the
cross elasticity of demand between
them is :

(1) positive
(3) one

(2) zero
(4) negative
-
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128. Who described Political Science as
“the study of the authoritative
allocation of values for the society” ?

(1) Robert Dahl
(2) David Easten
(3) Ernest Barker
(4) E.M. Foster”

129. “In the last decade of the 19%®
century and the first decade of the
twentieth  century, traditional
political science disclaims the
institutional and legalist tradition
and adopts aj.new approach to
socio-political life.”

Which of the ;:fti:llowing is wrong
@ﬂ:h respect ; to the above

tatement ? o)

(1) Political scholars to discover
the real or actual power
behind legal, constitutional
and institutional authority.
The researcher will have to
study the formal structure and

2)

constitutional machinery of
the state. .l
The scholars of politics will

(3) -
. have to fgﬂbw a new path

forgra e witwat & queh ® 31 T because péﬂtical theory has
5 s § 3 @ TR B | come in eentact with such
e L
A a
(4) &9 9 Wﬁﬂa‘ IE H T | modify its nature. y
gferaT & &9 1 ¢@HT | ! (4) So;iety and societal groups as
rocess.
130. ‘T 3 7 T K Feeh B @ |
130. Who said, “Politi :
e T ? AN e t‘ﬁﬁ & T 3= { the cc?ﬁ; of aos]%hé"see:r‘:zl:}?:rgsillﬁﬁ
HIE TN TE 2 1" TE AT R - ] other way outﬁt to wrestle with
(1) et w7 7 L it”? =
(2) weTeH Tfefi b RISE I 7(1) Karl Marg 2
(3) TR e (2) Mahatma Gandhi
@ S (3) Jawaharlal Nehru
(4) Plato
26 :
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| 181. A chart which represents the
growth and development of an
empire, a dynasty and historical
facts of this nature is called :

(1) Genealogy charts

I (2) Flow charts

(3) Tabulation charts

(4) Classification charts

| 132. Below are given some qualities of a
’ social science teacher :

A. An expert in methodology of
teaching social science.
B. Well-equipped in academic
| qualification.
C. Well-equipped in  human
qualities.
Which of the following given option
| best represents above stated
qualities ?
(1) Only ‘A’ & ‘C
(2) Only ‘B’
3) ‘A, B &C
(4) Only ‘A’
133. Which of the following is kind of
visual aids ?
(1) Film strips

(2) Tape recordings
(3) Motion pictures

(4) Television

- Which of the following elements of
Edgar Dale’s cone of experience is
most effective for learning ?

(1) Motion Pictures

(2) Demonstration

(3) Real Direct Experience
(4) Radio Recording
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‘ 135. Which of the following is not the
i steps of Herbertian Approach of
! lesson planning ? v
i (1) Comparison and Association
(2) (Generalisation
(3) Exploration
(4) Presentation

136. Which of the following is not the
characteristics of Unit Plan ?
(1) In unit plan, the content of
lessons arranged in totality.
| (2) In unit plan principle of “Part
to Whole” followed.
I (3) In wunit

of

plan principle
“Synthesis to Analysis”
i -followed.

(4) In unit plan objectives are
prepared on basis of totality.

137. Unit plan is based on which of the
psychology ?
(1) Clinical Psychology
(2) Counselling Psychology
(3) General Psychology
(4) Gestalt Psychology
138. Who stated that “The curriculum
is the tool in the hands of the
artist (the teacher) to mould his
material (the pupil) according to
his ideal (objective) in his studio
(the school) ?
(1) P. Samuel
(2) Thorndike
(3) Benjamin Franklin
(4) Cunningham

l

|

l

!

i 139. Who was the Chairman of Position
Il ~ paper of National focus group for
|
|
|
I

Social Science teaching related to
NCF 2005 ?
(1) Prof. Gopal Guru
- (2) Prof. J.S. Rajput
(3) Prof. Krishna Kumar
(4) Prof. Yashpal

28



P UL Tt S ——
£ fafwa TE 2 7

() fafil & sfefs she ®

@2 FreRE % = a9
m%%ﬁmﬂ?ﬂ|

(3) AT | SEqfEar ovg |

(4) faefiEt € o S @ e

141. Freafs The Bg Hiwt o Fmin & Ry
HEwESH o T fRAmRE
H. IevEl H 3 U
7. Twgeeg %1 3i% Wi
H. W % THR H 3% R
T HISATS T HT 3H YR
JUIRH el o HTUR W Faiies 9w
fareq &1 =97 Hifve
(1) a9 ‘@ Q@ W AEETH
(2) ¥ T W T AAES
(8) 3, W, W W ‘T AEW=h
(4) HaA 3’ T T AEED

142, fyorer § g0 BH1 % FagRT TRad &
gray § TIEl % Heho YT I SATEAT
0 Y I ! HET IR
(1) uden
(2) frazom
(3) Frewm
(4) qeATHA -

143, Frferfae 3 & H A1 TGS T H
g ?
(1) wemEd 8t .
(2) FeF 9ad H HFAH T
3) T T = IR
(4) s dFgrEaT

01

| 140. Which of the following is not the
characteristics of essay type test ?
(1) Useful for knowing expression
skill of the students.

Useful for knowing creative
thoughts of the students.
Objectivity in  evaluation
possible,

Useful for knowing language
style & writing skill of
students

(2)
(3)
(4)

141. Elements essential for preparing
blue print of achievement test are
given below :

A. Weightage to objectives

B. Weightage to content

C. Weightage to type of question
D. Weightage to difficulty level

Select the best suitable option by
using above mentioned elements :

(1) Only ‘B’ & ‘C’ essential
(2) Only ‘B’ & ‘D’ essential
(3) ‘A’, ‘B, ‘C’ & ‘D’ essential
(4) Only ‘A’ & ‘B’ essential

142. A process of gathering and
interpreting evidence on changes
in the behaviour of students in
school is known as :

(1) Examination

' (2) Controlling

(3) Direction

t (4) Evaluation

143. Which of the following is not the
advantage of objective test ?
(1) Administration easy

| (2) Approximation possible in
I selecting answer
(3) Minimum use of language
' (4) Objectivity of scoring
+
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144. A gocial science teacher teaches in

the classroom about lives of great
ers, sculptors, musicians etc.,

paint
n aesthetic sense

during explanatio
may develop in the child. This type

of correlation occurred between

which two subjects ?

(1) Social Science and Mathematics
~(2) Social Science and Fine Arts
3) Social Science and Geography
(4) Social Science and Science

145. Correlation between  different
branches of Social Science 1is
known as — _

(1) Multilateral correlation
(2) Uni-lateral correlation

i (3) Curvilinear correlation

(4) Co-lateral correlation

146. Who stated that “The
sciences are concerned with man

and his interaction with his social
and physical environment, they
deal with human relationships” ?

(1) Wesley

(2) M.P. Moffat

l (3) Bining and Bining
(4) Juhn, V. Michaelis |

social

! 147. Which of the following is the

behavioural term of

27

(1) 9&H ST
(2) FeATETOT HTAT
(3) wewhi w1 fufto
(4) IR HET

| ‘undgrstanding’ objective in social
| science teaching ?

l (1) To identify

I (2) To recall

(3) Deciding the components
(4) To differentiate
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| 148.

Which of the following is limitation

of field trip ?

(1) Useful for some selected topics
of Social Science

(2) Aesthetic sense

(3) Interest & Curiosity

(4) Real experiences

. Steps of completing the project in

jumbled order are given below :

A. Planning of the project
Choosing the project

Providing a situation

Judging the project .
Executing the project

Which of the following option has
correct - logical order regarding

fEEow

steps of project ?

1) B>CoDSESA
@ ESB3CSDIA
B3 C>B->A->E->D
4) XS5B 3€5D->B

. Which of the following option

shows correct logical order of steps

followed in “socialized recitation

method” ?

(1) Planning — Conducting —
Evaluating — Reporting

(2) Planning — Reporting —»
Conducti_ng — Evaluating

(3) Planning — Conducting —
Reporting — Evaluating

(4) Conducting — Reporting —
Planning — Evaluating




